RESOLUTION NO. <u>08-15</u> CITY OF CENTERVILLE, OHIO

SPONSORED	BY COU	CILMEMBER	Jollane	Kan	ON THE
2nd	DAY OF	March	, 201	5.	

A RESOLUTION ACCEPTING THE BIDS SUBMITTED BY GREEN VELVET SOD FARMS, JOHN DEERE LANDSCAPES, AND HELENA CHEMICALS FOR FERTILIZER FOR THE GOLF CLUB AT YANKEE TRACE AND AUTHORIZING THE CITY MANAGER TO ENTER INTO A CONTRACT IN CONNECTION THEREWITH.

WHEREAS, the City of Centerville advertised for bidders for fertilizer for The Golf Club at Yankee Trace according to specifications prepared by the City, and

WHEREAS, Green Velvet Sod Farms, John Deere Landscapes, and Helena Chemicals were the lowest and best bidders on various products.

NOW, THEREFORE, THE MUNICIPALITY OF CENTERVILLE HEREBY RESOLVES:

Section 1. That the following bids totaling \$27,317.06 are hereby accepted for fertilizers for The Golf Club at Yankee Trace, are marked as Exhibits "A," "B," and "C" are attached hereto and made a part hereof:

- A. Green Velvet Sod Farms \$8,006.90 502 bags of 12-0-3 .15% Dimension 25%SCU sgn 215 at \$8,006.90.
- **B.** John Deere \$15,322.66 280 bags of Merit .2% 14-0-0 20% Polyplus at \$4,886.00; 380 bags 24-3-12M 80% Polyplus 1Fe at \$8,362.66; 305 gallons of Iron + Chelated Zn at \$2,074.00.
- C. Helena Chemicals \$3,987.50 250 bags of 30-0-10 50% PCSCU slow release at \$3,987.50.

Section 2. The City Manager is hereby authorized and directed to enter into any necessary contracts to evidence acceptance of said bids and to make payment pursuant thereto.

	PASSED this _	2nd	day of _	March	
2015					

Deputy Mayor of the City of Centerville, Ohio

ATTEST:

Clerk of Council, City of Centerville, Ohio

CERTIFICATE

The undersigned, Clerk of the Council of the City of Centerville, Ohio hereby certifies that the foregoing is a true and correct copy of Resolution Number 08-15, passed by the Council of the City of Centerville, Ohio on the 2nd day of 77 and 2015.

Clerk of Council / ames

Approved as to form, consistency with existing ordinances, the Charter and Constitutional Provisions.

Department of Law Scott A. Liberman Municipal Attorney



YANKEE TRACE GOLF COURSE FERTILIZER BID 2015 FERTILIZER BID PRODUCTS

2/4/2015

	UOM	Quantity	UNIT PRICE	TOTAL
12-0-3 .15% Dimension 25% SCU sgn 215	bag	502	\$15.95	\$8,006.90
15-0-4 w/ Merit 25% nsn (sgn 215)	bag	280	\$18.95	\$5,306.00
23-0-6 50% NSN 2% (sgn 150)	bag	380	\$18.75	\$7,125.00
30-0-5 50% SCU	bag	250	\$17.20	\$4,300.00
				\$24,737.90

CRAIG FRYMAN 937-603-8414

Quotation



West Carroliton OH #536 730 Royal Ridge Dr West Carroliton, OH 45449-2334 W. (837)886-4252

Created	Quote#	Due Date	Expected Award Date	Expiration Date
01/29/2015	2237148	02/04/2015	02/27/2015	10/31/2015

Printed	Job Name	Job Description	Job Start Date
02/03/2015	2015 Chemical Bld	2015 Chemical Bid	01/29/2015
08:45:05	Pricing	Pricing	

BIII To:

City Of Centerville DBA The Golf Club At Yankee Tr (#600550) 100 W Spring Valley Pike Dayton, OH 45458-3760 W: (937)428-4745

Ship To:

Cily Of Centerville DBA The Golf Club At Yankee Tr (#600550) 100 W Spring Valley Pike Dayton, OH 45458-3760 W: (937)428-4745

Line #	Item #	Item Desc	Qty		Extended Price
17	702016	Dimension 0.15% 13-0-5M 30%Polyplus 50# LESCO	502	17.250	8,659.50
18	091533	Merit .2% 14-0-0-20% Polyplus LESCO	280	17.450	4,886.00
19	510148	24-3-12M 80% Polyplus 1Fe	380	22,007	8,362.66
20	510203	30-0-6 50% Polyplus 2Fe	250	16,500	4,125.00
21	084050	Iron + Chelated Zn 2.5 Gal	122	17.000	2,074.00

Total Price: \$ 28,107.16

Quoted price is for material only. Applicable sales tax will be charged when invoiced. All product and pricing information is based on the latest information available and is subject to charge without notice or obligation.

Helena Chemical Fertilizer Bld-Adam Dillon 2015

<u>Fertilizer</u>	Quantity	Cost/unit	Total Cost
12-0-3 +.15% Dimension slow release(SGN 150)	502 bags	NB	NB
Andersons 15-0-4 + .2% Merit (19-3-4 .2% Merit 30% PCSCU (SGN 200+)	230 bags	\$19.50/bag	\$5,460.00
25-5-15 50% Meth Urea slow release (SGN 150)	250 bags	\$23.90/bag	\$9,082
30-0-10 50% PCSCU slow release(SGN 200+)	200 bags	15.95/bag	3190
12-0-0+Iron and Zinc(Elemax 15-0-0 + 6% Iron)	305 gal	\$6.50/gal	\$1,982.50
total			\$19,714.50